
Lecture 20

Defnthm [Mac '74] Let ✗ be smthproj.CI-var. Let G(X ):={ Iv / VEX constructible) subvar.}
.

7- a map (really a natural transf. 6→ H. ) called CSM class

Csm : GCX)→ H.CN st Ix ↳ ctx) n [X]
.

N.B_ CSMOCIY) = ✗top(Y) as elts in Hold_~I .

Time [Ake ' 99] UCX open st ✗\U=ÑDi
,
a union of smthsnc divisors . Then

E- I

c. ( Fxfloglxvl)) ) n [×] = csm ( Iu)

pt) Have 0→ Fxflog .YDi)→F× →QQ;lDi)→ 0
.

Induce on l&dimX .

CCQL-log.YD.HN/Y=cCt-x)/-.a+p.jnLX] .

Whereas : Ctx)ki+De, AID]

1×4,8=-1%-1 - 1-Dev?ÉDi)=dF×H÷i(Wink] - ÉÉ¥(µp;) n ED]
5=1

= DEX ¥¥¥⇒ - ¥!¥⇒)n[×]
0 IT

④ 0→ Tw
, flog 2Wh)→ FEEL- logZXE)# Nwy×⇐→ 0

t p
o→ £1m→ EE → Q4w<→ 0

.

"

T T

F- = §

co-rcsmlt.pe/=c(TkC-log2WD)nLWI--c(SL)ciEi-rlQL)nIXE] c- H• (XE )

dicroticSi)c*+r(QL) n [XE] = ith
- coett

.
of Tmcxioyx .

Rein [Brylawski
'84] conj. : wefts of Tmcx,o) log-conc. Solved :[Huh '15]



Red log Poincaré -Hopf ⇒f Cri (2) Ga-r (QL) =fnkcr-il-wcl-log2WLD-X-MCD.IE
11

↳ 9*(1-1711) [Speyer '09]
[ Hacking -Keel-Tender -06]
[Varchenko ' 95

,
Siluoeei '96]

Recall : KCX)=K{Vec. bdls on X }/sEs E.gg Ktcpt) = I. [Chart] .

T
KTCX) = I { T-eqv.ve . bdls on X } /sEs

-hmL[Rosie, Knutson
'
03][Vezzosi-vis-1011103][Nielsen ' 74] Let I be a smthproj . fan Clint0 ok).

Then KT(✗E)↳ IT KTGZ) whose image is to)oeEma× st
JEImax

[Fe]T→ [Fe]T for - for -=o mod ( 1- Xmas)
Po V-oi.sk st anoa codim 1

.

KTCXE)→ KCXE) ( Ker = ideal
gen . by const. (f)on st tlbb -

→ 11--0) .

Rem_ See also [Fink- Speyer
' 12] & [Dinu- E.

- Seynnaeve
'21]


